Do - m
POWER-POLED

HALLOW WATER ANCHOR

SWIFT. SILENT. SECURE.

r

HARDWARE KIT FOR BRACED ADAPTER PLATES
INSTRUCTIONS

Included Hardware: Installation Tools
A (2) 3/8" x 2" Bolts e 9/16" Socket

B (2) 3/8" x 1-3/4" Bolts ¢ Ratchet

C (4) 3/8" Heavy Washers e 9/16" Wrench

D (4) 3/8" Lock Nuts
E (4) 3/8" Neo-Bond Washers

INSTALLATION INSTRUCTIONS:

STEP 1 Follow diagram specific to your Power-Pole Anchor stern bracket model to attach the anchor to the adapter plate and brace.

STEP 2 Tighten all hardware to 240 inch pounds/20 foot pounds of torque

Solid-Aluminum Stern Bracket Models Three-Piece Stern Bracket Models

E
NOTICE: Ensure Neo-Bond side of washer NOTICE: Neo-Bond Washers (E) not used
is facing the Stern Bracket. on 3-piece stern bracket models.

Need help? Contact our Customer Service Team at 1 + 813.689.9932 option 2

dIMarine °°'0 Palm River Road, Tampa, Florida 33619 * phone 813.689.9932 « fax 813.689.8883 ¢ power-pole.com
Power-Pole is a registered trademark of JL Marine Systems, Inc. © Copyright 2021 JL Marine Systems, Inc. All Rights Reserved.

22212889



